Math373 Quiz 1 Fri. Jan 21, 2022

Name: SD(U'HW\_S

Directions: Show all work. No credit for answers without work.

1. [2 points] True or False: A substitution cipher is vulnerable to brute force attack by modern
computers. Explain your answer.
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2. [3 parts, 2 points each] Caeser shift cipher

(a) Complete the substitution table for the Caeser/shift cypher with key k& = 15.
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(b) Using the key k = 15, encrypt the message “Deploy the weapon”.
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(c) Using the key k = 15, decrypt the message THRPE TIDBD GGDL.
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3. [2 points] In the English language, the letters ’a’, ’e’, 1", ’0’, and 'u’ are vowels and the
other letters are consonants. How many substitution ciphers encode vowels with vowels and
consonants with consonants? Explain.
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